Ver. T3-2015SE-NPS-MD-1.0

Measure Document

for Network Printer System Testing

« System Test Result Analysis

« Solution

Project Team

Team3

Date
2015-12-08

Team Information

O|Xj 4} (201011355)
MEM (201012047)
S 2t (201111396)
=2 (201111345)

2015 1 Team 3



Ver. T3-2015SE-NPS-MD-1.0

Table of Contents

1 Introduction 3
1.1  Objectives 3
1.2 Background 3
1.3  References 3
2 System Testing Result for Failure 3
3 System Testing Result Analysis 5

3.1 Testing Result RF! MU 7t Fo|x|of AX| LSL|CH
3.2 Analysis F! MZu|7t Felx|of AX| gkELCt
4 Solution 6
5  Final Result & Discussion 8

2015 2 Team 3



Ver. T3-2015SE-NPS-MD-1.0

1 Introduction
11 Objectives
= ZA= 20154 A=Oistn 2ZEQ O I HE 25 +82 T30| /e HEYH
3 =zl A|AHEI(NPS : Network Printer System)0j LCH3s{ T10| =3st ST(System
Testing)ol CHSH CHEA{O|Ct.
1.2 Background
CH-& M(Measure Document)= CHE ElO| &lsH A|AH HAH(System Testing)d] CHst
Of SRSE 7|FO2 MR T 2EO| U2 FP WD gL A0l U2 FL
Hrersle 2A{0|Ct
1.3  References
2015SE-NPS-SRS-1.0
T1-2015SE-NPS-STP-1.0
T1-2015SE-NPS-STR-1.0
2 System Testing Result for Failure
Number | Set Input Identifier Expected Result Description
Number Output
1 "Admin A4 20" Z{THE | T3_NPS.STC.002.000 | €X| 20 % | Failed
Y &
2 X T2 A0{Qt 3} | T3_NPS.STC.007.003 | X 7Tr&k Failed
O EHotrt. 20
3 "Admin A4 90"7{THE | T3_NPS.STC.002.001 | X| ZXI1IZ | Failed
I oIt FH 4
Ij
4 Set 2 | "Admin A4 110"HME | T3_NPS.STC.002.002 | X =X H | Failed
2y el =1tz 2l
o EH A
5 "Admin Ink 1000"7{PH = | T3_NPS.STC.003.000 | {3 1000 | Failed
e 53
6 /U3 THEEE 20{et 3t | T3_NPS.STC.007.004 | {3 ZtZF : | Failed
o =&etct 1000
7 "Admin Ink 2900 Z{@ | T3_NPS.STC.003.001 | @3 Z1tZ | Failed
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E Y olgh 51 4
Ij
8 "Admin Ink 3100" Z{TH | T3_NPS.STC.003.002 | 43 =H™ H | Failed
e o 142 ol
o 5H un
9 "Admin A4 3"Z{MHE Q! | T3_NPS.STC.002.000 | &X|] 3 57X | Failed
=
10 "Admin Ink 50" ZPHE | T3_NPS.STC.003.000 | {3 50 % | Failed
Y o
11 "Admin A4 80" Z{THE | T3_NPS.STC.002.000 | X 80 = | Failed
2 .
12 "Admin Ink 2000" Z{@i | T3_NPS.STC.003.000 | @3 2000 | Failed
c g 53
13 “User2 Print test6.txt"E | T3_NPS.STC.005.008 | OO(AXHA| Failed 10=0tCt HO|X] &
2 (testbtxt LY = hixt 4y = SIFA @S
Al IRsH 8X|O| YO| 2 s 2
60, ¥39| 0| 600¢ X| A2 : 60,
39 g2 22
600, &8 A
ZF 1 60%
14 ZZ2E Z0 A= = | T3_NPS.STC.007.001 | User2 now | Failed 60%E ==Hol=0 61
Set3 | &sict /60, now o2 BAZI =
Rl £ 3
ol =4
15 “User2 Print test7.txt"E | T3_NPS.STC.005.009 | OO(HX{A| Failed 10= 0t} M o|X| F+&
Q&3 (test7.txt LY = hixt MM g SIFK| LS
2 Al e 8x9 L 2, 8
Q0| 4, 439 0| 40 X a2 : 4
2 3% g3 4R
12, &2 A
b 4%
16 "User2 Print test8.txt"E | T3_NPS.STC.005.010 | OO(H X A| Failed 10=0iCt M O|X| #&
U (test8ixt WLt = hixt MM 2 S|FTX LS
g Al 2R &X9 X = 8
Q0| 5, ¥39] Q0| 50 X A2 5
2 F2) @3 &=
50, &8 A
ZF 5%
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17

18

19

“User2 Print test9.txt"E | T3_NPS.STC.005.011 | OO(ZX{A| Failed 10=0tC} M o|X| &
3 ( testOtxt W = hixt MM g SIFEX Le
5 Al TR /X 2 =3, 8
0| 6, YA O] A0| 60 X| A8 @6
2 F2) o3 22

60, 289 A

h 6=
“User2 Print testlO.txt” | T3_NPS.STC.005.012 | OO(HAXHA| Failed 10& Ofct mo|x] F
£ Y8 (testlOtxtmt hixt 4y =22 HFX @s
=8 Al 2ot gX|9 X EH, 8
ol 7, dA9| 0| X 22 :7,
70¢ %) g2 22

70 , &8 A

2 7x
“User2 Print testll.txt” | T3_NPS.STC.005.013 | OO(3 X A| Failed 10Z OtCh M o|X|
2 903 (testlltxtm}Y Zhixt MM 22 SFX %S
£8 A Zad gx| L £ 8
Q0| 7, Y39 ¥O| 70 X A8 7,
2 F9) 943 2z

70, 28 A

System Testing Result Analysis

Testing Result
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ease Order : Admin Stop
Account Data Load Success
ogin ID : Admin
Tnput Command - Stop
~rufe Contraoller.

ease Hrd#r
Ink 8

2015

_F'r"i rlt r1|_|n

MO 0/0

-Print Wait-

WO
WO
WO
WO
WO

5  Final Result & Discussion
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Please Order : Admin
Account Data Load Succe
Login ID : Admin
Input CDTTaﬂd_:
Excute Contro

Can't Stop whil

Pleaze QOrder
- L

TR Of7|JEft S HYEOM StopFHOE #E ZHE dfZ StUCh

-EH|AEZD} B E Failo| Pass7} E|QiLCH

-StopFP 0= 2E0(7(0| AHEA ATO0| 2Rt AHHERZ HF0| 28 {iftd 445t
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